

### NASHUA-MERRIMACK-BEDFORD

13761D

NON-FEDERAL

PROJECT: STATE PROJECT NUMBER: FED. PROJECT NUMBER: DATE BIDS OPEN:	NASHUA-MERRIMACK-BEDFORD 13761D NON-FEDERAL February 10, 2022,	Awarded To:	COLEMAN ALVIN J & SON INC 9 NH ROUTE 113 CONWAY, NH 03818-9505		
SCOPE OF WORK:	FE Everett Turnpike widening of a 2-lane section from north of Exit 13 to north of I-293 diverge.	Amount:	\$20,518,857.90	Certified by:	PETER.E.STAMNAS Director of Project Development
COMPLETION DATE: LOCATION:	July 19, 2024 Hillsborough	Award Date:			

### **Summary of Bidders**

Contractor	Bid Amount	Rank
COLEMAN ALVIN J & SON INC	\$20,518,857.90	А
9 NH ROUTE 113, CONWAY NH 03818-9505		
AUDLEY, R. S., INC.	\$21,114,455.65	В
1112 DOUTE 2A DOW NH 02204 4025		

1113 ROUTE 3A, BOW NH 03304-4025





13761D

NON-FEDERAL

					PS&E	9 NH F	.VIN J & SON INC OUTE 113 NH 03818-9505	1113 F	Y, R. S., INC. ROUTE 3A I 03304-4025
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

201.1	CLEARING AND GRUBBING (F)	А	5.20	\$10,000.00	\$52,000.00	\$10,600.00	\$55,120.00	\$20,000.00	\$104,000.00
201.21	REMOVING SMALL TREES	EA	6.00	\$450.00	\$2,700.00	\$1,105.00	\$6,630.00	\$1,000.00	\$6,000.00
201.6	CLEARING FOR FENCE LINES (F)	А	.60	\$10,000.00	\$6,000.00	\$32,400.00	\$19,440.00	\$30,000.00	\$18,000.00
201.881	INVASIVE SPECIES CONTROL TYPE I	SY	20,250.00	\$3.75	\$75,937.50	\$1.35	\$27,337.50	\$4.00	\$81,000.00
201.882	INVASIVE SPECIES CONTROL TYPE II	SY	1,550.00	\$3.50	\$5,425.00	\$5.40	\$8,370.00	\$4.00	\$6,200.00
202.31	FILL ABANDONED PIPE	СҮ	45.00	\$340.00	\$15,300.00	\$257.00	\$11,565.00	\$515.00	\$23,175.00
202.32	FILL AND ABANDON STRUCTURE	СҮ	51.00	\$275.00	\$14,025.00	\$206.00	\$10,506.00	\$290.00	\$14,790.00
202.33	FILL AND ABANDON BOX CULVERT	СҮ	395.00	\$225.00	\$88,875.00	\$154.00	\$60,830.00	\$170.00	\$67,150.00
202.41	REMOVAL OF EXISTING PIPE 0-24" DIAMETER	LF	740.00	\$15.00	\$11,100.00	\$41.00	\$30,340.00	\$17.00	\$12,580.00
202.5	REMOVAL OF CATCH BASINS, DROP INLETS, AND MANHOLES	EA	18.00	\$455.00	\$8,190.00	\$515.00	\$9,270.00	\$400.00	\$7,200.00
202.7	REMOVAL OF GUARDRAIL	LF	6,150.00	\$3.50	\$21,525.00	\$3.25	\$19,987.50	\$3.00	\$18,450.00
202.74	REMOVAL OF CONCRETE BARRIER	LF	1,750.00	\$30.00	\$52,500.00	\$11.50	\$20,125.00	\$36.00	\$63,000.00
202.841	REMOVAL OF PULL BOX	EA	7.00	\$260.00	\$1,820.00	\$378.00	\$2,646.00	\$210.00	\$1,470.00
202.843	REMOVAL OF LIGHT POLE	U	1.00	\$950.00	\$950.00	\$1,190.00	\$1,190.00	\$1,150.00	\$1,150.00
203.112	COMMON EXCAVATION - LRS/PFAS	СҮ	13,350.00	\$15.00	\$200,250.00	\$11.50	\$153,525.00	\$17.00	\$226,950.00
203.12	COMMON EXCAVATION - PFAS	СҮ	33,350.00	\$12.00	\$400,200.00	\$9.90	\$330,165.00	\$17.00	\$566,950.00
203.2	ROCK EXCAVATION	СҮ	56,850.00	\$35.00	\$1,989,750.00	\$24.50	\$1,392,825.00	\$36.00	\$2,046,600.00
203.53	LOW PERMEABILITY FILL (F)	СҮ	1,004.40	\$27.00	\$27,118.80	\$23.50	\$23,603.40	\$45.00	\$45,198.00
203.5525	PORTABLE CHANGEABLE MESSAGE SIGN PLATFORM	U	6.00	\$1,350.00	\$8,100.00	\$772.00	\$4,632.00	\$1,000.00	\$6,000.00
203.55261	INSTALLATION AND REMOVAL OF SWZ - PORTABLE QUEUE TRAILER PLATFORM	U	3.00	\$1,300.00	\$3,900.00	\$1,030.00	\$3,090.00	\$1,000.00	\$3,000.00
203.55262	INSTALLATION AND REMOVAL OF SWZ - PORTABLE CHANGEABLE MESSAGE SIGN PLATFORM	U	1.00	\$1,300.00	\$1,300.00	\$1,030.00	\$1,030.00	\$1,000.00	\$1,000.00
203.55264	INSTALLATION AND REMOVAL OF SWZ - MOBILE VIDEO TRAILER PLATFORM	U	1.00	\$1,200.00	\$1,200.00	\$1,030.00	\$1,030.00	\$1,000.00	\$1,000.00
203.5561	EAGRT PLATFORM PREFERRED	U	9.00	\$1,500.00	\$13,500.00	\$1,545.00	\$13,905.00	\$650.00	\$5,850.00
203.6	EMBANKMENT-IN-PLACE (F)	СҮ	46,700.00	\$15.00	\$700,500.00	\$4.80	\$224,160.00	\$8.00	\$373,600.00



#### NASHUA-MERRIMACK-BEDFORD

13761D

		ī	1	Ī		I				
					PS&E	9 NH F	LVIN J & SON INC ROUTE 113 NH 03818-9505	1113	Y, R. S., INC. ROUTE 3A H 03304-4025	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total	
203.81	PRESPLITTING HOLES	LF	18,650.00	\$8.50	\$158,525.00	\$19.50	\$363,675.00	\$17.00	\$317,050.00	
203.82	EXTRA DRILLED HOLES WITHOUT EXPLOSIVES	LF	4,050.00	\$3.00	\$12,150.00	\$3.25	\$13,162.50	\$2.50	\$10,125.00	
206.1	COMMON STRUCTURE EXCAVATION	СҮ	830.00	\$53.00	\$43,990.00	\$38.00	\$31,540.00	\$18.00	\$14,940.00	
206.19	COMMON STRUCTURE EXCAVATION EXPLORATORY	СҮ	20.00	\$80.00	\$1,600.00	\$103.00	\$2,060.00	\$250.00	\$5,000.00	
206.2	ROCK STRUCTURE EXCAVATION	СҮ	1,700.00	\$85.00	\$144,500.00	\$106.00	\$180,200.00	\$100.00	\$170,000.00	
209.1	GRANULAR BACKFILL	СҮ	560.00	\$55.00	\$30,800.00	\$37.50	\$21,000.00	\$35.00	\$19,600.00	
209.201	GRANULAR BACKFILL (BRIDGE) (F)	СҮ	2,397.80	\$50.00	\$119,890.00	\$37.50	\$89,917.50	\$37.00	\$88,718.60	
214.	FINE GRADING	U	1.00	\$100,000.00	\$100,000.00	\$118,000.00	\$118,000.00	\$455,000.00	\$455,000.00	
214.3	FINE GRADING EARTH BERMS IN ROCKCUTS	LF	1,700.00	\$10.00	\$17,000.00	\$33.50	\$56,950.00	\$14.00	\$23,800.00	
225.2	PRESTRESSED ROCK BOLTS	LF	360.00	\$140.00	\$50,400.00	\$448.00	\$161,280.00	\$165.00	\$59,400.00	
304.1	SAND (F)	СҮ	12,461.00	\$28.00	\$348,908.00	\$28.50	\$355,138.50	\$30.00	\$373,830.00	
304.31	CRUSHED GRAVEL FOR SHIMMING	СҮ	2,400.00	\$32.00	\$76,800.00	\$35.50	\$85,200.00	\$46.00	\$110,400.00	
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	375.00	\$31.51	\$11,816.25	\$25.00	\$9,375.00	\$24.00	\$9,000.00	
304.35	CRUSHED GRAVEL FOR DRIVES	СҮ	785.00	\$40.00	\$31,400.00	\$33.50	\$26,297.50	\$46.00	\$36,110.00	
304.4	CRUSHED STONE (FINE GRADATION) (F)	СҮ	10,397.40	\$35.00	\$363,909.00	\$33.00	\$343,114.20	\$28.00	\$291,127.20	
304.41	CRUSHED STONE (FINE GRADATION) FOR SHIM	СҮ	325.00	\$35.00	\$11,375.00	\$32.50	\$10,562.50	\$35.00	\$11,375.00	
304.5	CRUSHED STONE (COARSE GRADATION) (F)	СҮ	13,597.20	\$35.00	\$475,902.00	\$27.50	\$373,923.00	\$28.00	\$380,721.60	
403.11012	HBP-1" BASE MIX, MACHINE METHOD, QC/QA TIER 2	TON	7,350.00	\$80.00	\$588,000.00	\$75.50	\$554,925.00	\$68.00	\$499,800.00	
403.11922	HBP-3/4" BINDER MIX, MACHINE METHOD, HIGH STRENGTH, QC/QA TIER 2	TON	11,450.00	\$82.00	\$938,900.00	\$88.50	\$1,013,325.00	\$87.00	\$996,150.00	
403.11942	HBP-1/2" SURFACE MIX, MACHINE METHOD, HIGH STRENGTH, QC/QA TIER 2	TON	13,350.00	\$85.00	\$1,134,750.00	\$95.00	\$1,268,250.00	\$93.00	\$1,241,550.00	
403.12	HBP-HAND METHOD	TON	515.00	\$180.00	\$92,700.00	\$151.00	\$77,765.00	\$148.00	\$76,220.00	
403.16	PAVEMENT JOINT ADHESIVE	LF	416,650.00	\$0.25	\$104,162.50	\$0.25	\$104,162.50	\$0.27	\$112,495.50	
403.18	HBP-LEVELING COURSE	TON	58.00	\$80.00	\$4,640.00	\$97.00	\$5,626.00	\$94.00	\$5,452.00	
403.19	HBP-TEMPORARY	TON	3,000.00	\$95.00	\$285,000.00	\$86.50	\$259,500.00	\$95.00	\$285,000.00	
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	32,150.00	\$2.60	\$83,590.00	\$2.15	\$69,122.50	\$2.10	\$67,515.00	
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	17,547.00	\$3.50	\$61,414.50	\$4.85	\$85,102.95	\$4.75	\$83,348.25	



### NASHUA-MERRIMACK-BEDFORD

13761D

		1	1	ī		Ī		ī	
					PS&E	9 NH I	LVIN J & SON INC ROUTE 113 NH 03818-9505	1113	Y, R. S., INC. ROUTE 3A H 03304-4025
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
417.	COLD PLANING BITUMINOUS SURFACES	SY	90,350.00	\$3.00	\$271,050.00	\$2.15	\$194,252.50	\$2.10	\$189,735.00
417.416	RUMBLE STRIPS, 16" WIDE	LF	36,200.00	\$0.34	\$12,308.00	\$0.60	\$21,720.00	\$0.35	\$12,670.00
503.101	WATER DIVERSION STRUCTURE	U	1.00	\$4,000.00	\$4,000.00	\$5,400.00	\$5,400.00	\$2,000.00	\$2,000.00
503.102	WATER DIVERSION STRUCTURE	U	1.00	\$4,000.00	\$4,000.00	\$8,100.00	\$8,100.00	\$2,000.00	\$2,000.00
503.103	WATER DIVERSION STRUCTURE	U	1.00	\$4,000.00	\$4,000.00	\$8,100.00	\$8,100.00	\$2,000.00	\$2,000.00
503.104	WATER DIVERSION STRUCTURE	U	1.00	\$4,000.00	\$4,000.00	\$5,940.00	\$5,940.00	\$100.00	\$100.00
503.201	COFFERDAMS	U	1.00	\$4,000.00	\$4,000.00	\$18,400.00	\$18,400.00	\$100.00	\$100.00
503.202	COFFERDAMS	U	1.00	\$4,000.00	\$4,000.00	\$27,500.00	\$27,500.00	\$35,000.00	\$35,000.00
503.203	COFFERDAMS	U	1.00	\$20,000.00	\$20,000.00	\$18,400.00	\$18,400.00	\$35,000.00	\$35,000.00
503.204	COFFERDAMS	U	1.00	\$20,000.00	\$20,000.00	\$27,500.00	\$27,500.00	\$100.00	\$100.00
503.205	COFFERDAMS	U	1.00	\$4,000.00	\$4,000.00	\$18,400.00	\$18,400.00	\$100.00	\$100.00
503.206	COFFERDAMS	U	1.00	\$4,000.00	\$4,000.00	\$21,100.00	\$21,100.00	\$45,000.00	\$45,000.00
503.207	COFFERDAMS	U	1.00	\$4,000.00	\$4,000.00	\$18,400.00	\$18,400.00	\$100.00	\$100.00
503.208	COFFERDAMS	U	1.00	\$4,000.00	\$4,000.00	\$17,300.00	\$17,300.00	\$65,000.00	\$65,000.00
503.209	COFFERDAMS	U	1.00	\$4,000.00	\$4,000.00	\$27,500.00	\$27,500.00	\$65,000.00	\$65,000.00
503.210	COFFERDAMS	U	1.00	\$10,000.00	\$10,000.00	\$34,600.00	\$34,600.00	\$100.00	\$100.00
503.211	COFFERDAMS	U	1.00	\$10,000.00	\$10,000.00	\$34,600.00	\$34,600.00	\$100.00	\$100.00
508.	STRUCTURAL FILL	СҮ	170.00	\$55.50	\$9,435.00	\$43.00	\$7,310.00	\$45.00	\$7,650.00
520.1	CONCRETE CLASS A	СҮ	17.80	\$900.00	\$16,020.00	\$1,620.00	\$28,836.00	\$2,900.00	\$51,620.00
520.2	CONCRETE CLASS B	СҮ	60.00	\$500.00	\$30,000.00	\$302.00	\$18,120.00	\$850.00	\$51,000.00
520.421	CONCRETE CLASS F, FLOWABLE FILL, EXCAVATABLE	СҮ	130.00	\$75.00	\$9,750.00	\$206.00	\$26,780.00	\$1.00	\$130.00
534.3	WATER REPELLENT (SILANE/SILOXANE)	GAL	6.00	\$90.00	\$540.00	\$309.00	\$1,854.00	\$100.00	\$600.00
544.1	REINFORCING STEEL (ROADWAY)	LB	9,000.00	\$1.40	\$12,600.00	\$3.65	\$32,850.00	\$2.00	\$18,000.00
572.1	RECONSTRUCTING STONE WALL ONE STONE WIDE	LF	55.00	\$60.00	\$3,300.00	\$378.00	\$20,790.00	\$100.00	\$5,500.00
585.2	STONE FILL, CLASS B	СҮ	505.00	\$45.00	\$22,725.00	\$62.00	\$31,310.00	\$39.00	\$19,695.00
585.3	STONE FILL, CLASS C	СҮ	1,050.00	\$55.00	\$57,750.00	\$51.50	\$54,075.00	\$37.00	\$38,850.00



### NASHUA-MERRIMACK-BEDFORD

13761D

		1	1	I					
					PS&E	9 NH I	LVIN J & SON INC ROUTE 113 NH 03818-9505	1113	Y, R. S., INC. ROUTE 3A H 03304-4025
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
585.4	STONE FILL, CLASS D	СҮ	15.00	\$30.00	\$450.00	\$62.00	\$930.00	\$110.00	\$1,650.00
585.7	STONE FILL, CLASS G	СҮ	28.00	\$55.00	\$1,540.00	\$62.00	\$1,736.00	\$215.00	\$6,020.00
593.121	GEOTEXTILE; SUBSUR DRAIN CL.2, NON-WOVEN	SY	28.00	\$2.50	\$70.00	\$18.50	\$518.00	\$5.50	\$154.00
593.321	GEOTEXTILE; STABILIZATION CL.2, NON-WOVEN	SY	4,150.00	\$2.00	\$8,300.00	\$3.60	\$14,940.00	\$5.50	\$22,825.00
593.411	GEOTEXTILE; PERM CONTROL CL.1, NON-WOVEN	SY	860.00	\$3.00	\$2,580.00	\$3.60	\$3,096.00	\$6.00	\$5,160.00
593.421	GEOTEXTILE; PERM CONTROL CL.2, NON-WOVEN	SY	1,600.00	\$3.80	\$6,080.00	\$3.60	\$5,760.00	\$6.00	\$9,600.00
595.3	PRIMARY GEOGRID	SY	5,650.00	\$5.00	\$28,250.00	\$3.10	\$17,515.00	\$4.00	\$22,600.00
603.0001	VIDEO INSPECTION	LF	7,150.00	\$1.50	\$10,725.00	\$3.10	\$22,165.00	\$1.50	\$10,725.00
603.00212	12" R.C. PIPE, 2000D	LF	95.00	\$68.00	\$6,460.00	\$92.50	\$8,787.50	\$110.00	\$10,450.00
603.00215	15" R.C. PIPE, 2000D	LF	875.00	\$75.00	\$65,625.00	\$95.00	\$83,125.00	\$115.00	\$100,625.00
603.00218	18" R.C. PIPE, 2000D	LF	270.00	\$90.00	\$24,300.00	\$108.00	\$29,160.00	\$155.00	\$41,850.00
603.00224	24" R.C. PIPE, 2000D	LF	320.00	\$110.00	\$35,200.00	\$118.00	\$37,760.00	\$200.00	\$64,000.00
603.00236	36" R.C. PIPE, 2000D	LF	85.00	\$150.00	\$12,750.00	\$154.00	\$13,090.00	\$275.00	\$23,375.00
603.30112	12" R.C. END SECTIONS	EA	6.00	\$725.00	\$4,350.00	\$1,030.00	\$6,180.00	\$750.00	\$4,500.00
603.30115	15" R.C. END SECTIONS	EA	2.00	\$800.00	\$1,600.00	\$1,135.00	\$2,270.00	\$790.00	\$1,580.00
603.30118	18" R.C. END SECTIONS	EA	3.00	\$850.00	\$2,550.00	\$1,235.00	\$3,705.00	\$880.00	\$2,640.00
603.30136	36" R.C. END SECTIONS	EA	2.00	\$1,400.00	\$2,800.00	\$2,370.00	\$4,740.00	\$1,625.00	\$3,250.00
603.34112	12" STEEL END SECTIONS	EA	2.00	\$375.00	\$750.00	\$412.00	\$824.00	\$425.00	\$850.00
603.34115	15" STEEL END SECTIONS	EA	10.00	\$400.00	\$4,000.00	\$515.00	\$5,150.00	\$475.00	\$4,750.00
603.34118	18" STEEL END SECTIONS	EA	1.00	\$450.00	\$450.00	\$669.00	\$669.00	\$540.00	\$540.00
603.80212	12" PLASTIC PIPE (SMOOTH INTERIOR)	LF	50.00	\$65.00	\$3,250.00	\$62.00	\$3,100.00	\$100.00	\$5,000.00
603.80215	15" PLASTIC PIPE (SMOOTH INTERIOR)	LF	3,000.00	\$70.00	\$210,000.00	\$67.00	\$201,000.00	\$85.00	\$255,000.00
603.80218	18" PLASTIC PIPE (SMOOTH INTERIOR)	LF	740.00	\$75.00	\$55,500.00	\$92.50	\$68,450.00	\$95.00	\$70,300.00
603.80224	24" PLASTIC PIPE (SMOOTH INTERIOR)	LF	1,300.00	\$85.00	\$110,500.00	\$103.00	\$133,900.00	\$95.00	\$123,500.00
603.80230	30" PLASTIC PIPE (SMOOTH INTERIOR)	LF	440.00	\$95.00	\$41,800.00	\$113.00	\$49,720.00	\$125.00	\$55,000.00
603.99012	12" TEMPORARY DRAINAGE PIPE	LF	36.00	\$50.00	\$1,800.00	\$92.50	\$3,330.00	\$100.00	\$3,600.00



### NASHUA-MERRIMACK-BEDFORD

13761D

					PS&E	9 NH I	LVIN J & SON INC ROUTE 113 NH 03818-9505	1113	Y, R. S., INC. ROUTE 3A H 03304-4025
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
603.99015	15" TEMPORARY DRAINAGE PIPE	LF	405.00	\$50.00	\$20,250.00	\$103.00	\$41,715.00	\$80.00	\$32,400.00
604.0007	POLYETHYLENE LINER	EA	98.00	\$150.00	\$14,700.00	\$309.00	\$30,282.00	\$240.00	\$23,520.00
604.114	CATCH BASINS TYPE A, 4-FOOT DIAMETER	U	51.00	\$3,500.00	\$178,500.00	\$3,090.00	\$157,590.00	\$3,350.00	\$170,850.00
604.115	CATCH BASINS TYPE A, 5-FOOT DIAMETER	U	9.00	\$4,500.00	\$40,500.00	\$3,400.00	\$30,600.00	\$4,050.00	\$36,450.00
604.116	CATCH BASINS TYPE A, 6-FOOT DIAMETER	U	2.00	\$5,500.00	\$11,000.00	\$5,150.00	\$10,300.00	\$5,500.00	\$11,000.00
604.118	CATCH BASINS TYPE A, 8-FOOT DIAMETER	U	3.00	\$7,000.00	\$21,000.00	\$10,300.00	\$30,900.00	\$9,250.00	\$27,750.00
604.154	CATCH BASINS TYPE E, 4-FOOT DIAMETER	U	12.00	\$3,100.00	\$37,200.00	\$3,090.00	\$37,080.00	\$3,550.00	\$42,600.00
604.1549	TEMPORARY CATCH BASINS TYPE E, 4-FOOT DIAMETER	U	4.00	\$2,800.00	\$11,200.00	\$3,090.00	\$12,360.00	\$4,150.00	\$16,600.00
604.324	DRAINAGE MANHOLES, 4-FOOT DIAMETER	U	11.00	\$3,100.00	\$34,100.00	\$3,090.00	\$33,990.00	\$3,300.00	\$36,300.00
604.325	DRAINAGE MANHOLES, 5-FOOT DIAMETER	U	3.00	\$3,700.00	\$11,100.00	\$3,705.00	\$11,115.00	\$3,900.00	\$11,700.00
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	75.00	\$475.00	\$35,625.00	\$515.00	\$38,625.00	\$650.00	\$48,750.00
604.5	RECONSTRUCTING/ADJUSTING MANHOLES	LF	26.00	\$600.00	\$15,600.00	\$515.00	\$13,390.00	\$650.00	\$16,900.00
604.9101	OUTLET CONTROL STRUCTURE	U	1.00	\$4,600.00	\$4,600.00	\$8,240.00	\$8,240.00	\$7,500.00	\$7,500.00
604.9102	OUTLET CONTROL STRUCTURE	U	1.00	\$4,600.00	\$4,600.00	\$8,240.00	\$8,240.00	\$5,500.00	\$5,500.00
605.506	6" PERF. CORR. POLYETHYLENE PIPE UNDERDRAIN	LF	3,700.00	\$30.00	\$111,000.00	\$31.00	\$114,700.00	\$40.00	\$148,000.00
605.79	UNDERDRAIN FLUSHING BASINS	EA	4.00	\$400.00	\$1,600.00	\$721.00	\$2,884.00	\$435.00	\$1,740.00
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 3) (STEEL POST)	U	9.00	\$3,890.00	\$35,010.00	\$4,695.00	\$42,255.00	\$4,500.00	\$40,500.00
606.127	BEAM GUARDRAIL (TERMINAL UNIT TYPE G-2) (STEEL POST)	U	8.00	\$1,000.00	\$8,000.00	\$1,405.00	\$11,240.00	\$1,350.00	\$10,800.00
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	3,250.00	\$32.00	\$104,000.00	\$39.00	\$126,750.00	\$37.50	\$121,875.00
606.412	CONCRETE BARRIER, DOUBLE- FACED, PRECAST	LF	220.00	\$100.00	\$22,000.00	\$206.00	\$45,320.00	\$150.00	\$33,000.00
606.41251	54" TO 45" TRANSITION SINGLE SLOPE CONCRETE BARRIER, PRECAST	U	6.00	\$3,000.00	\$18,000.00	\$6,180.00	\$37,080.00	\$6,000.00	\$36,000.00
606.4135	54" SINGLE SLOPE CONCRETE BARRIER, PRECAST	LF	580.00	\$145.00	\$84,100.00	\$185.00	\$107,300.00	\$160.00	\$92,800.00
606.4139	SINGLE SLOPE CONCRETE MEDIAN BARRIER (MODIFIED), PRECAST	LF	1,180.00	\$160.00	\$188,800.00	\$165.00	\$194,700.00	\$150.00	\$177,000.00
606.416	REMOVE AND RESET CONCRETE BARRIER	LF	6,929.00	\$60.00	\$415,740.00	\$31.00	\$214,799.00	\$45.00	\$311,805.00
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	20,700.00	\$29.00	\$600,300.00	\$41.00	\$848,700.00	\$30.00	\$621,000.00
606.42291	TRANSITION BARRIER, CAST IN PLACE	U	1.00	\$5,000.00	\$5,000.00	\$5,150.00	\$5,150.00	\$40,000.00	\$40,000.00



#### NASHUA-MERRIMACK-BEDFORD

13761D

					PS&E	9 NH	LVIN J & SON INC ROUTE 113 NH 03818-9505	1113	Y, R. S., INC. ROUTE 3A H 03304-4025
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
606.9513	TEMP. IMPACT ATTENUATION DEVICE (REDIRECTIVE), TEST LEVEL 3	U	10.00	\$4,500.00	\$45,000.00	\$15,700.00	\$157,000.00	\$28,000.00	\$280,000.00
607.140	WOVEN WIRE FENCE, 4'-0" HIGH	LF	7,550.00	\$9.00	\$67,950.00	\$8.10	\$61,155.00	\$14.00	\$105,700.00
607.250	CHAIN LINK FENCE WITH ALUMINUM COATED STEEL FABRIC, 5' HIGH	LF	210.00	\$30.00	\$6,300.00	\$24.00	\$5,040.00	\$44.00	\$9,240.00
607.2606	CHAIN LINK FENCE WITH ALUMINUM COATED STEEL FABRIC, 6' HIGH (SECURITY)	LF	200.00	\$50.00	\$10,000.00	\$65.00	\$13,000.00	\$48.00	\$9,600.00
607.350	CHAIN LINK FENCE WITH VINYL COATED STEEL FABRIC, 5' HIGH	LF	575.00	\$30.00	\$17,250.00	\$26.00	\$14,950.00	\$38.00	\$21,850.00
607.4140	POST ASSEMBLIES FOR WOVEN WIRE FENCE, 4'-0" HIGH	EA	24.00	\$180.00	\$4,320.00	\$243.00	\$5,832.00	\$225.00	\$5,400.00
607.4250	POST ASSEMBLIES FOR CHAIN LINK FENCE, 5' HIGH	EA	2.00	\$225.00	\$450.00	\$297.00	\$594.00	\$255.00	\$510.00
607.42606	POST ASSEMBLIES FOR CHAIN LINK FENCE, 6' HIGH (SECURITY)	EA	18.00	\$225.00	\$4,050.00	\$324.00	\$5,832.00	\$290.00	\$5,220.00
607.4350	POST ASSEMBLIES FOR CHAIN LINK FENCE WITH VINYL CTD STL FABRIC, 5' HIGH	EA	6.00	\$225.00	\$1,350.00	\$162.00	\$972.00	\$255.00	\$1,530.00
607.5110	WOOD FENCE (STOCKADE), 10'-0" HIGH	LF	1,850.00	\$75.00	\$138,750.00	\$216.00	\$399,600.00	\$120.00	\$222,000.00
607.5180	WOOD FENCE (STOCKADE), 8'-0" HIGH	LF	405.00	\$40.00	\$16,200.00	\$200.00	\$81,000.00	\$66.00	\$26,730.00
607.76612	12' OPENING DOUBLE GATE, CHAIN LINK ALUM. COATED STEEL FABRIC, 6' HIGH (SECURITY)	U	1.00	\$4,000.00	\$4,000.00	\$1,945.00	\$1,945.00	\$1,850.00	\$1,850.00
608.28	8" CONCRETE SIDEWALK (F)	SY	226.00	\$70.00	\$15,820.00	\$97.00	\$21,922.00	\$69.00	\$15,594.00
609.214	STRAIGHT GRANITE SLOPE CURB, 4" HIGH	LF	950.00	\$23.00	\$21,850.00	\$38.00	\$36,100.00	\$22.00	\$20,900.00
609.224	STRAIGHT GRANITE SLOPE CURB WITH RADIAL JOINTS, 4" HIGH	LF	10.00	\$23.00	\$230.00	\$45.50	\$455.00	\$22.00	\$220.00
609.5	RESET GRANITE CURB	LF	3,800.00	\$18.00	\$68,400.00	\$19.50	\$74,100.00	\$9.00	\$34,200.00
609.811	BITUMINOUS CURB, TYPE B (4" REVEAL)	LF	2,400.00	\$8.00	\$19,200.00	\$7.00	\$16,800.00	\$4.75	\$11,400.00
614.331	3" STEEL CONDUIT	LF	270.00	\$34.00	\$9,180.00	\$66.50	\$17,955.00	\$30.00	\$8,100.00
614.523	MOLDED PULL BOX 17"X30"	EA	10.00	\$625.00	\$6,250.00	\$810.00	\$8,100.00	\$875.00	\$8,750.00
614.73114	3" PVC CONDUIT, SCHEDULE 40	LF	2,000.00	\$25.00	\$50,000.00	\$30.00	\$60,000.00	\$23.00	\$46,000.00
614.73118	3" PVC CONDUIT, SCHEDULE 80	LF	100.00	\$28.00	\$2,800.00	\$35.50	\$3,550.00	\$52.50	\$5,250.00
615.01201	TRAFFIC SIGN TYPE A, BREAKAWAY MOUNTS	SF	175.00	\$105.00	\$18,375.00	\$234.00	\$40,950.00	\$150.00	\$26,250.00
615.013	REMOVING TRAFFIC SIGN TYPE A	U	1.00	\$1,300.00	\$1,300.00	\$1,350.00	\$1,350.00	\$1,200.00	\$1,200.00
615.014	RELOCATING TRAFFIC SIGN TYPE A	U	5.00	\$3,800.00	\$19,000.00	\$6,805.00	\$34,025.00	\$6,850.00	\$34,250.00
615.0201	TRAFFIC SIGN TYPE B	SF	117.00	\$75.00	\$8,775.00	\$202.00	\$23,634.00	\$150.00	\$17,550.00



### NASHUA-MERRIMACK-BEDFORD

13761D

			PS&E COLEMAN ALVIN J & SON INC 9 NH ROUTE 113 CONWAY, NH 03818-9505		9 NH ROUTE 113		9 NH ROUTE 113		1113	Y, R. S., INC. ROUTE 3A H 03304-4025
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total	
615.02201	TRAFFIC SIGN TYPE B, BREAKAWAY MOUNTS	SF	141.00	\$150.00	\$21,150.00	\$187.00	\$26,367.00	\$185.00	\$26,085.00	
615.023	REMOVING TRAFFIC SIGN TYPE B	U	20.00	\$115.00	\$2,300.00	\$65.00	\$1,300.00	\$1,925.00	\$38,500.00	
615.0301	TRAFFIC SIGN TYPE C	SF	25.00	\$45.00	\$1,125.00	\$335.00	\$8,375.00	\$185.00	\$4,625.00	
615.03201	TRAFFIC SIGN TYPE C, BREAKAWAY MOUNTS	SF	213.00	\$135.00	\$28,755.00	\$247.00	\$52,611.00	\$315.00	\$67,095.00	
615.033	REMOVING TRAFFIC SIGN, TYPE C	U	20.00	\$30.00	\$600.00	\$65.00	\$1,300.00	\$290.00	\$5,800.00	
615.034	RELOCATING TRAFFIC SIGN, TYPE C	U	4.00	\$100.00	\$400.00	\$378.00	\$1,512.00	\$2,000.00	\$8,000.00	
615.0401	TRAFFIC SIGN TYPE AA	SF	804.00	\$31.00	\$24,924.00	\$30.00	\$24,120.00	\$30.00	\$24,120.00	
615.043	REMOVING TRAFFIC SIGN TYPE AA	U	5.00	\$450.00	\$2,250.00	\$810.00	\$4,050.00	\$1,750.00	\$8,750.00	
615.0601	TRAFFIC SIGN TYPE CC	SF	7.00	\$18.00	\$126.00	\$15.00	\$105.00	\$11.00	\$77.00	
615.063	REMOVING TRAFFIC SIGN TYPE CC	U	2.00	\$38.00	\$76.00	\$16.00	\$32.00	\$130.00	\$260.00	
615.10001	FULL TRAFFIC SIGN STRUCTURE	U	1.00	\$150,450.00	\$150,450.00	\$189,000.00	\$189,000.00	\$180,000.00	\$180,000.00	
615.103	REMOVING FULL TRAFFIC SIGN STRUCTURE	U	1.00	\$4,500.00	\$4,500.00	\$8,100.00	\$8,100.00	\$20,000.00	\$20,000.00	
615.30801	RESET BRIDGE MOUNTED TRAFFIC SIGN STRUCTURE	U	1.00	\$4,500.00	\$4,500.00	\$31,900.00	\$31,900.00	\$45,000.00	\$45,000.00	
615.343	REMOVE TRAFFIC SIGN TYPE AA (BRIDGE MOUNTED)	U	1.00	\$2,500.00	\$2,500.00	\$810.00	\$810.00	\$1,725.00	\$1,725.00	
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	575,000.00	\$1.00	\$575,000.00	\$1.00	\$575,000.00	\$1.00	\$575,000.00	
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$250,000.00	\$250,000.00	\$1,340,000.00	\$1,340,000.00	\$983,100.00	\$983,100.00	
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	6.00	\$5,000.00	\$30,000.00	\$18,100.00	\$108,600.00	\$21,000.00	\$126,000.00	
619.279	AUTOMATED TRAILER-MOUNTED SPEED LIMIT SIGN	U	4.00	\$2,300.00	\$9,200.00	\$27,200.00	\$108,800.00	\$8,000.00	\$32,000.00	
619.503	WORK ZONE ITS OPERATIONAL COSTS (SUMMER)	MON	23.00	\$1,100.00	\$25,300.00	\$972.00	\$22,356.00	\$1,200.00	\$27,600.00	
619.51	PORTABLE QUEUE TRAILER / SENSOR (PQT)	MON	115.00	\$645.00	\$74,175.00	\$540.00	\$62,100.00	\$600.00	\$69,000.00	
619.52	PORTABLE CHANGEABLE MESSAGE SIGN (PCMS)	MON	161.00	\$865.00	\$139,265.00	\$783.00	\$126,063.00	\$800.00	\$128,800.00	
619.54	MOBILE VIDEO TRAILER WITH PAN TILT ZOOM (PTZ)	MON	69.00	\$1,200.00	\$82,800.00	\$1,080.00	\$74,520.00	\$1,250.00	\$86,250.00	
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	2.00	\$9,000.00	\$18,000.00	\$62,200.00	\$124,400.00	\$30,000.00	\$60,000.00	
619.91	RELOCATE WORK ZONE ITS DEVICE	U	4.00	\$400.00	\$1,600.00	\$324.00	\$1,296.00	\$380.00	\$1,520.00	
621.1	RETROREFLECTIVE MEDIAN BARRIER DELINEATOR	EA	194.00	\$25.00	\$4,850.00	\$26.00	\$5,044.00	\$50.00	\$9,700.00	
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	39.00	\$5.50	\$214.50	\$8.65	\$337.35	\$7.75	\$302.25	



#### NASHUA-MERRIMACK-BEDFORD

13761D

					PS&E	COLEMAN ALVIN J& SON INC 9 NH ROUTE 113 CONWAY, NH 03818-9505		1113	Y, R. S., INC. ROUTE 3A H 03304-4025
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
621.3112	SINGLE LARGE DELINEATOR WITH POST	EA	197.00	\$60.00	\$11,820.00	\$81.00	\$15,957.00	\$78.00	\$15,366.00
622.1	STEEL WITNESS MARKERS	EA	45.00	\$40.00	\$1,800.00	\$38.00	\$1,710.00	\$37.00	\$1,665.00
622.2	CONCRETE BOUNDS	EA	6.00	\$300.00	\$1,800.00	\$378.00	\$2,268.00	\$450.00	\$2,700.00
625.2	CONCRETE LIGHT POLE BASES, TYPE B	EA	4.00	\$1,300.00	\$5,200.00	\$1,235.00	\$4,940.00	\$1,250.00	\$5,000.00
625.62	RESET/RELOCATE LIGHT POLE	EA	4.00	\$2,500.00	\$10,000.00	\$1,440.00	\$5,760.00	\$1,200.00	\$4,800.00
628.2	SAWED BITUMINOUS PAVEMENT	LF	600.00	\$3.00	\$1,800.00	\$5.40	\$3,240.00	\$3.00	\$1,800.00
632.0106	RETROREFLECTIVE PAINT PAVE. MARKING, 6" LINE	LF	213,950.00	\$0.20	\$42,790.00	\$0.20	\$42,790.00	\$0.22	\$47,069.00
632.0112	RETROREFLECTIVE PAINT PAVE. MARKING, 12" LINE	LF	9,400.00	\$0.35	\$3,290.00	\$0.40	\$3,760.00	\$0.37	\$3,478.00
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	32,700.00	\$1.38	\$45,126.00	\$1.60	\$52,320.00	\$2.50	\$81,750.00
632.3106	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 6" LINE	LF	9,450.00	\$1.60	\$15,120.00	\$1.60	\$15,120.00	\$1.60	\$15,120.00
632.3112	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 12" LINE	LF	7,600.00	\$4.00	\$30,400.00	\$4.05	\$30,780.00	\$3.85	\$29,260.00
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	76,400.00	\$0.80	\$61,120.00	\$0.30	\$22,920.00	\$0.32	\$24,448.00
645.119	MULCH WITH TACKIFIERS	А	10.00	\$1,150.00	\$11,500.00	\$1,350.00	\$13,500.00	\$1,300.00	\$13,000.00
645.3	EROSION STONE	TON	1,800.00	\$35.00	\$63,000.00	\$36.00	\$64,800.00	\$30.00	\$54,000.00
645.44	TEMPORARY SLOPE MATTING TYPE D (WILDLIFE FRIENDLY)	SY	4,350.00	\$3.00	\$13,050.00	\$2.10	\$9,135.00	\$2.90	\$12,615.00
645.45	PERMANENT CHANNEL MATTING TYPE A	SY	12,050.00	\$8.00	\$96,400.00	\$9.20	\$110,860.00	\$8.75	\$105,437.50
645.482	STUMP GRINDINGS FOR TEMPORARY EROSION CONTROL	CY	3,800.00	\$15.00	\$57,000.00	\$20.50	\$77,900.00	\$19.00	\$72,200.00
645.51	HAY BALES FOR TEMPORARY EROSION CONTROL	EA	85.00	\$10.00	\$850.00	\$10.50	\$892.50	\$10.00	\$850.00
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	2,100.00	\$6.00	\$12,600.00	\$9.25	\$19,425.00	\$5.00	\$10,500.00
645.531	SILT FENCE	LF	13,900.00	\$3.00	\$41,700.00	\$4.10	\$56,990.00	\$3.00	\$41,700.00
645.611	BONDED FIBER MATRIX (BFM)	LB	44,800.00	\$1.40	\$62,720.00	\$1.80	\$80,640.00	\$1.70	\$76,160.00
645.7	STORM WATER POLLUTION PREVENTION PLAN	U	1.00	\$7,500.00	\$7,500.00	\$21,600.00	\$21,600.00	\$22,000.00	\$22,000.00
645.71	MONITORING SWPPP AND EROSION AND SEDIMENT CONTROLS	HR	2,250.00	\$77.50	\$174,375.00	\$92.00	\$207,000.00	\$85.00	\$191,250.00
645.72	FINAL WETLAND IMPACT REPORT	U	1.00	\$4,000.00	\$4,000.00	\$5,400.00	\$5,400.00	\$5,050.00	\$5,050.00
646.2	TURF ESTABLISHMENT WITHOUT MULCH	А	20.00	\$1,400.00	\$28,000.00	\$2,810.00	\$56,200.00	\$1,850.00	\$37,000.00
647.1	нимиз	СҮ	10,600.00	\$21.00	\$222,600.00	\$27.00	\$286,200.00	\$27.00	\$286,200.00



### NASHUA-MERRIMACK-BEDFORD

13761D

				PS&E		9 NH I	LVIN J & SON INC ROUTE 113 NH 03818-9505	AUDLEY, R. S., INC. 1113 ROUTE 3A BOW, NH 03304-4025		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total	
650.83	WEED CONTROL MATTING	SF	600.00	\$3.00	\$1,800.00	\$2.05	\$1,230.00	\$3.00	\$1,800.00	
670.02	SEDIMENT SUMP MEASURING BLOCK	EA	2.00	\$620.00	\$1,240.00	\$1,235.00	\$2,470.00	\$375.00	\$750.00	
670.04501	CONSTRUCT AND REMOVE DIVERSION	U	1.00	\$24,500.00	\$24,500.00	\$16,200.00	\$16,200.00	\$23,000.00	\$23,000.00	
670.04502	CONSTRUCT AND REMOVE DIVERSION	U	1.00	\$65,000.00	\$65,000.00	\$44,600.00	\$44,600.00	\$65,000.00	\$65,000.00	
670.04503	CONSTRUCT AND REMOVE DIVERSION	U	1.00	\$30,000.00	\$30,000.00	\$18,400.00	\$18,400.00	\$25,000.00	\$25,000.00	
670.04504	CONSTRUCT AND REMOVE DIVERSION	U	1.00	\$40,000.00	\$40,000.00	\$24,600.00	\$24,600.00	\$37,000.00	\$37,000.00	
670.04505	CONSTRUCT AND REMOVE DIVERSION	U	1.00	\$30,000.00	\$30,000.00	\$18,000.00	\$18,000.00	\$27,000.00	\$27,000.00	
670.104	TEMPORARY PORTABLE LIGHTING	U	7.00	\$10,000.00	\$70,000.00	\$18,500.00	\$129,500.00	\$17,500.00	\$122,500.00	
670.1619	DISCHARGE PERMIT FOR CONTAMINATED WATER	U	1.00	\$5,000.00	\$5,000.00	\$15,000.00	\$15,000.00	\$7,500.00	\$7,500.00	
670.822	GNSS CONSTRUCTION INSPECTION EQUIPMENT	U	1.00	\$75,000.00	\$75,000.00	\$41,200.00	\$41,200.00	\$28,000.00	\$28,000.00	
670.95	TEMPORARY SAFETY FENCE	LF	410.00	\$4.50	\$1,845.00	\$4.10	\$1,681.00	\$10.00	\$4,100.00	
677.1201	PERMANENT FIXED LOCATION DYNAMIC MESSAGE SIGN (DMS)	U	1.00	\$75,000.00	\$75,000.00	\$91,000.00	\$91,000.00	\$80,000.00	\$80,000.00	
677.32001	ANTENNA MOUNTING STRUCTURE FOUNDATION	U	1.00	\$55,000.00	\$55,000.00	\$27,000.00	\$27,000.00	\$39,500.00	\$39,500.00	
677.32101	ANTENNA MOUNTING STRUCTURE TOWER	U	1.00	\$24,000.00	\$24,000.00	\$197,000.00	\$197,000.00	\$102,000.00	\$102,000.00	
677.41501	CCTV SYSTEM WITHOUT POLE	U	1.00	\$20,000.00	\$20,000.00	\$8,855.00	\$8,855.00	\$8,500.00	\$8,500.00	
677.4601	MOTOR VEHICLE DETECTION SYSTEM (MVDS)	U	1.00	\$25,000.00	\$25,000.00	\$55,700.00	\$55,700.00	\$67,000.00	\$67,000.00	
677.54201	POLE MOUNTED ITS EQUIPMENT CABINET	U	1.00	\$17,000.00	\$17,000.00	\$12,400.00	\$12,400.00	\$10,000.00	\$10,000.00	
677.543	DOUBLE-WIDE GROUND MOUNTED ITS EQUIPMENT CABINET	U	1.00	\$20,000.00	\$20,000.00	\$18,400.00	\$18,400.00	\$25,500.00	\$25,500.00	
677.5822	1 GBPS FIBER ETHERNET SWITCH	EA	2.00	\$7,000.00	\$14,000.00	\$5,670.00	\$11,340.00	\$4,200.00	\$8,400.00	
677.6213	GENERATOR BACKUP SYSTEM, PROPANE SMALL	U	1.00	\$5,000.00	\$5,000.00	\$28,900.00	\$28,900.00	\$17,900.00	\$17,900.00	
677.6301	METER AND DISCONNECT PEDESTAL	U	1.00	\$4,000.00	\$4,000.00	\$5,940.00	\$5,940.00	\$4,400.00	\$4,400.00	
677.6302	METER AND DISCONNECT PEDESTAL	U	1.00	\$4,000.00	\$4,000.00	\$4,050.00	\$4,050.00	\$4,400.00	\$4,400.00	
677.6303	METER AND DISCONNECT PEDESTAL	U	1.00	\$4,000.00	\$4,000.00	\$4,590.00	\$4,590.00	\$4,400.00	\$4,400.00	
677.64	UNINTERRUPTIBLE POWER SUPPLY (UPS)	EA	2.00	\$6,000.00	\$12,000.00	\$7,775.00	\$15,550.00	\$7,900.00	\$15,800.00	
677.9108	1-CONDUCTOR #8 AWG WIRE	LF	325.00	\$2.00	\$650.00	\$4.60	\$1,495.00	\$3.15	\$1,023.75	
677.9302	3-CONDUCTOR #2 AWG CABLE	LF	450.00	\$12.00	\$5,400.00	\$15.00	\$6,750.00	\$6.30	\$2,835.00	



#### NASHUA-MERRIMACK-BEDFORD

13761D

				PS&E		COLEMAN ALVIN J & SON INC 9 NH ROUTE 113 CONWAY, NH 03818-9505		AUDLEY, R. S., INC. 1113 ROUTE 3A BOW, NH 03304-4025	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
692.	MOBILIZATION	U	1.00	\$1,300,000.00	\$1,300,000.00	\$2,060,000.00	\$2,060,000.00	\$2,082,250.00	\$2,082,250.00
697.11	INVASIVE SPECIES CONTROL AND MANAGEMENT PLAN	U	1.00	\$5,000.00	\$5,000.00	\$3,240.00	\$3,240.00	\$4,500.00	\$4,500.00
697.31	PROJECT OPERATIONS PLAN	U	1.00	\$25,000.00	\$25,000.00	\$7,560.00	\$7,560.00	\$6,000.00	\$6,000.00
697.41	CRITICAL PATH METHOD (CPM) ELECTRONIC SCHEDULE	U	1.00	\$12,500.00	\$12,500.00	\$12,400.00	\$12,400.00	\$7,000.00	\$7,000.00
698.11	FIELD OFFICE TYPE A	MON	28.00	\$2,700.00	\$75,600.00	\$6,180.00	\$173,040.00	\$3,900.00	\$109,200.00
698.2	PHYSICAL TESTING LABORATORY	MON	26.00	\$900.00	\$23,400.00	\$1,340.00	\$34,840.00	\$1,800.00	\$46,800.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	95,000.00	\$1.00	\$95,000.00	\$1.00	\$95,000.00	\$1.00	\$95,000.00
1008.8	ALTERATIONS AND ADDITIONS AS NEEDED - WINTER MAINTENANCE	\$	25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00
1010.15	FUEL ADJUSTMENT	\$	100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$	133,300.00	\$1.00	\$133,300.00	\$1.00	\$133,300.00	\$1.00	\$133,300.00
			Totals:		\$17,779,628.05		\$20,518,857.90		\$21,114,455.65
			Alt. Totals:						
			Totals:		\$17,779,628.05		\$20,518,857.90		\$21,114,455.65



						PS8	Е	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
201.1	CLEARING AND GRUBBING (F)	А	5.20	\$10,600.00	\$55,120.00	\$10,000.00	\$52,000.00	\$3,120.00
201.21	REMOVING SMALL TREES	EA	6.00	\$1,105.00	\$6,630.00	\$450.00	\$2,700.00	\$3,930.00
201.6	CLEARING FOR FENCE LINES (F)	A	.60	\$32,400.00	\$19,440.00	\$10,000.00	\$6,000.00	\$13,440.00
201.881	INVASIVE SPECIES CONTROL TYPE I	SY	20,250.00	\$1.35	\$27,337.50	\$3.75	\$75,937.50	(\$48,600.00)
201.882	INVASIVE SPECIES CONTROL TYPE II	SY	1,550.00	\$5.40	\$8,370.00	\$3.50	\$5,425.00	\$2,945.00
202.31	FILL ABANDONED PIPE	СҮ	45.00	\$257.00	\$11,565.00	\$340.00	\$15,300.00	(\$3,735.00)
202.32	FILL AND ABANDON STRUCTURE	СҮ	51.00	\$206.00	\$10,506.00	\$275.00	\$14,025.00	(\$3,519.00)
202.33	FILL AND ABANDON BOX CULVERT	СҮ	395.00	\$154.00	\$60,830.00	\$225.00	\$88,875.00	(\$28,045.00)
202.41	REMOVAL OF EXISTING PIPE 0-24" DIAMETER	LF	740.00	\$41.00	\$30,340.00	\$15.00	\$11,100.00	\$19,240.00
202.5	REMOVAL OF CATCH BASINS, DROP INLETS, AND MANHOLES	EA	18.00	\$515.00	\$9,270.00	\$455.00	\$8,190.00	\$1,080.00
202.7	REMOVAL OF GUARDRAIL	LF	6,150.00	\$3.25	\$19,987.50	\$3.50	\$21,525.00	(\$1,537.50)
202.74	REMOVAL OF CONCRETE BARRIER	LF	1,750.00	\$11.50	\$20,125.00	\$30.00	\$52,500.00	(\$32,375.00)
202.841	REMOVAL OF PULL BOX	EA	7.00	\$378.00	\$2,646.00	\$260.00	\$1,820.00	\$826.00
202.843	REMOVAL OF LIGHT POLE	U	1.00	\$1,190.00	\$1,190.00	\$950.00	\$950.00	\$240.00



13761D

				A-Bid	der	PSa	λЕ	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
203.112	COMMON EXCAVATION - LRS/PFAS	CY	13,350.00	\$11.50	\$153,525.00	\$15.00	\$200,250.00	(\$46,725.00)
203.12	COMMON EXCAVATION - PFAS	СҮ	33,350.00	\$9.90	\$330,165.00	\$12.00	\$400,200.00	(\$70,035.00)
203.2	ROCK EXCAVATION	СҮ	56,850.00	\$24.50	\$1,392,825.00	\$35.00	\$1,989,750.00	(\$596,925.00)
203.53	LOW PERMEABILITY FILL (F)	СҮ	1,004.40	\$23.50	\$23,603.40	\$27.00	\$27,118.80	(\$3,515.40)
203.5525	PORTABLE CHANGEABLE MESSAGE SIGN PLATFORM	U	6.00	\$772.00	\$4,632.00	\$1,350.00	\$8,100.00	(\$3,468.00)
203.55261	INSTALLATION AND REMOVAL OF SWZ - PORTABLE QUEUE TRAILER PLATFORM	U	3.00	\$1,030.00	\$3,090.00	\$1,300.00	\$3,900.00	(\$810.00)
203.55262	INSTALLATION AND REMOVAL OF SWZ - PORTABLE CHANGEABLE MESSAGE SIGN PLATFORM	U	1.00	\$1,030.00	\$1,030.00	\$1,300.00	\$1,300.00	(\$270.00)
203.55264	INSTALLATION AND REMOVAL OF SWZ - MOBILE VIDEO TRAILER PLATFORM	U	1.00	\$1,030.00	\$1,030.00	\$1,200.00	\$1,200.00	(\$170.00)
203.5561	EAGRT PLATFORM PREFERRED	U	9.00	\$1,545.00	\$13,905.00	\$1,500.00	\$13,500.00	\$405.00
203.6	EMBANKMENT-IN-PLACE (F)	CY	46,700.00	\$4.80	\$224,160.00	\$15.00	\$700,500.00	(\$476,340.00)
203.81	PRESPLITTING HOLES	LF	18,650.00	\$19.50	\$363,675.00	\$8.50	\$158,525.00	\$205,150.00
203.82	EXTRA DRILLED HOLES WITHOUT EXPLOSIVES	LF	4,050.00	\$3.25	\$13,162.50	\$3.00	\$12,150.00	\$1,012.50
206.1	COMMON STRUCTURE EXCAVATION	CY	830.00	\$38.00	\$31,540.00	\$53.00	\$43,990.00	(\$12,450.00)
206.19	COMMON STRUCTURE EXCAVATION EXPLORATORY	СҮ	20.00	\$103.00	\$2,060.00	\$80.00	\$1,600.00	\$460.00
206.2	ROCK STRUCTURE EXCAVATION	CY	1,700.00	\$106.00	\$180,200.00	\$85.00	\$144,500.00	\$35,700.00
209.1	GRANULAR BACKFILL	CY	560.00	\$37.50	\$21,000.00	\$55.00	\$30,800.00	(\$9,800.00)



13761D

				A-Bid	der	PS8	λЕ	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
209.201	GRANULAR BACKFILL (BRIDGE) (F)	CY	2,397.80	\$37.50	\$89,917.50	\$50.00	\$119,890.00	(\$29,972.50)
214.	FINE GRADING	U	1.00	\$118,000.00	\$118,000.00	\$100,000.00	\$100,000.00	\$18,000.00
214.3	FINE GRADING EARTH BERMS IN ROCKCUTS	LF	1,700.00	\$33.50	\$56,950.00	\$10.00	\$17,000.00	\$39,950.00
225.2	PRESTRESSED ROCK BOLTS	LF	360.00	\$448.00	\$161,280.00	\$140.00	\$50,400.00	\$110,880.00
304.1	SAND (F)	CY	12,461.00	\$28.50	\$355,138.50	\$28.00	\$348,908.00	\$6,230.50
304.31	CRUSHED GRAVEL FOR SHIMMING	CY	2,400.00	\$35.50	\$85,200.00	\$32.00	\$76,800.00	\$8,400.00
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	375.00	\$25.00	\$9,375.00	\$31.51	\$11,816.25	(\$2,441.25)
304.35	CRUSHED GRAVEL FOR DRIVES	CY	785.00	\$33.50	\$26,297.50	\$40.00	\$31,400.00	(\$5,102.50)
304.4	CRUSHED STONE (FINE GRADATION) (F)	CY	10,397.40	\$33.00	\$343,114.20	\$35.00	\$363,909.00	(\$20,794.80)
304.41	CRUSHED STONE (FINE GRADATION) FOR SHIM	CY	325.00	\$32.50	\$10,562.50	\$35.00	\$11,375.00	(\$812.50)
304.5	CRUSHED STONE (COARSE GRADATION) (F)	CY	13,597.20	\$27.50	\$373,923.00	\$35.00	\$475,902.00	(\$101,979.00)
403.11012	HBP-1" BASE MIX, MACHINE METHOD, QC/QA TIER 2	TON	7,350.00	\$75.50	\$554,925.00	\$80.00	\$588,000.00	(\$33,075.00)
403.11922	HBP-3/4" BINDER MIX, MACHINE METHOD, HIGH STRENGTH, QC/QA TIER 2	TON	11,450.00	\$88.50	\$1,013,325.00	\$82.00	\$938,900.00	\$74,425.00
403.11942	HBP-1/2" SURFACE MIX, MACHINE METHOD, HIGH STRENGTH, QC/QA TIER 2	TON	13,350.00	\$95.00	\$1,268,250.00	\$85.00	\$1,134,750.00	\$133,500.00
403.12	HBP-HAND METHOD	TON	515.00	\$151.00	\$77,765.00	\$180.00	\$92,700.00	(\$14,935.00)
403.16	PAVEMENT JOINT ADHESIVE	LF	416,650.00	\$0.25	\$104,162.50	\$0.25	\$104,162.50	\$0.00



13761D

				A-Bide	der	PS&	λЕ	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
403.18	HBP-LEVELING COURSE	TON	58.00	\$97.00	\$5,626.00	\$80.00	\$4,640.00	\$986.00
403.19	HBP-TEMPORARY	TON	3,000.00	\$86.50	\$259,500.00	\$95.00	\$285,000.00	(\$25,500.00)
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	32,150.00	\$2.15	\$69,122.50	\$2.60	\$83,590.00	(\$14,467.50)
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	17,547.00	\$4.85	\$85,102.95	\$3.50	\$61,414.50	\$23,688.45
417.	COLD PLANING BITUMINOUS SURFACES	SY	90,350.00	\$2.15	\$194,252.50	\$3.00	\$271,050.00	(\$76,797.50)
417.416	RUMBLE STRIPS, 16" WIDE	LF	36,200.00	\$0.60	\$21,720.00	\$0.34	\$12,308.00	\$9,412.00
503.101	WATER DIVERSION STRUCTURE	U	1.00	\$5,400.00	\$5,400.00	\$4,000.00	\$4,000.00	\$1,400.00
503.102	WATER DIVERSION STRUCTURE	U	1.00	\$8,100.00	\$8,100.00	\$4,000.00	\$4,000.00	\$4,100.00
503.103	WATER DIVERSION STRUCTURE	U	1.00	\$8,100.00	\$8,100.00	\$4,000.00	\$4,000.00	\$4,100.00
503.104	WATER DIVERSION STRUCTURE	U	1.00	\$5,940.00	\$5,940.00	\$4,000.00	\$4,000.00	\$1,940.00
503.201	COFFERDAMS	U	1.00	\$18,400.00	\$18,400.00	\$4,000.00	\$4,000.00	\$14,400.00
503.202	COFFERDAMS	U	1.00	\$27,500.00	\$27,500.00	\$4,000.00	\$4,000.00	\$23,500.00
503.203	COFFERDAMS	U	1.00	\$18,400.00	\$18,400.00	\$20,000.00	\$20,000.00	(\$1,600.00)
503.204	COFFERDAMS	U	1.00	\$27,500.00	\$27,500.00	\$20,000.00	\$20,000.00	\$7,500.00
503.205	COFFERDAMS	U	1.00	\$18,400.00	\$18,400.00	\$4,000.00	\$4,000.00	\$14,400.00
503.206	COFFERDAMS	U	1.00	\$21,100.00	\$21,100.00	\$4,000.00	\$4,000.00	\$17,100.00
503.207	COFFERDAMS	U	1.00	\$18,400.00	\$18,400.00	\$4,000.00	\$4,000.00	\$14,400.00



13761D

				A-Bid	der	PS&	ξE	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
503.208	COFFERDAMS	U	1.00	\$17,300.00	\$17,300.00	\$4,000.00	\$4,000.00	\$13,300.00
503.209	COFFERDAMS	U	1.00	\$27,500.00	\$27,500.00	\$4,000.00	\$4,000.00	\$23,500.00
503.210	COFFERDAMS	U	1.00	\$34,600.00	\$34,600.00	\$10,000.00	\$10,000.00	\$24,600.00
503.211	COFFERDAMS	U	1.00	\$34,600.00	\$34,600.00	\$10,000.00	\$10,000.00	\$24,600.00
508.	STRUCTURAL FILL	СҮ	170.00	\$43.00	\$7,310.00	\$55.50	\$9,435.00	(\$2,125.00)
520.1	CONCRETE CLASS A	СҮ	17.80	\$1,620.00	\$28,836.00	\$900.00	\$16,020.00	\$12,816.00
520.2	CONCRETE CLASS B	CY	60.00	\$302.00	\$18,120.00	\$500.00	\$30,000.00	(\$11,880.00)
520.421	CONCRETE CLASS F, FLOWABLE FILL, EXCAVATABLE	СҮ	130.00	\$206.00	\$26,780.00	\$75.00	\$9,750.00	\$17,030.00
534.3	WATER REPELLENT (SILANE/SILOXANE)	GAL	6.00	\$309.00	\$1,854.00	\$90.00	\$540.00	\$1,314.00
544.1	REINFORCING STEEL (ROADWAY)	LB	9,000.00	\$3.65	\$32,850.00	\$1.40	\$12,600.00	\$20,250.00
572.1	RECONSTRUCTING STONE WALL ONE STONE WIDE	LF	55.00	\$378.00	\$20,790.00	\$60.00	\$3,300.00	\$17,490.00
585.2	STONE FILL, CLASS B	CY	505.00	\$62.00	\$31,310.00	\$45.00	\$22,725.00	\$8,585.00
585.3	STONE FILL, CLASS C	СҮ	1,050.00	\$51.50	\$54,075.00	\$55.00	\$57,750.00	(\$3,675.00)
585.4	STONE FILL, CLASS D	CY	15.00	\$62.00	\$930.00	\$30.00	\$450.00	\$480.00
585.7	STONE FILL, CLASS G	СҮ	28.00	\$62.00	\$1,736.00	\$55.00	\$1,540.00	\$196.00
593.121	GEOTEXTILE; SUBSUR DRAIN CL.2, NON- WOVEN	SY	28.00	\$18.50	\$518.00	\$2.50	\$70.00	\$448.00
593.321	GEOTEXTILE; STABILIZATION CL.2, NON- WOVEN	SY	4,150.00	\$3.60	\$14,940.00	\$2.00	\$8,300.00	\$6,640.00



13761D

				A-Bidder		PS&E		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
593.411	GEOTEXTILE; PERM CONTROL CL.1, NON- WOVEN	SY	860.00	\$3.60	\$3,096.00	\$3.00	\$2,580.00	\$516.00
593.421	GEOTEXTILE; PERM CONTROL CL.2, NON- WOVEN	SY	1,600.00	\$3.60	\$5,760.00	\$3.80	\$6,080.00	(\$320.00)
595.3	PRIMARY GEOGRID	SY	5,650.00	\$3.10	\$17,515.00	\$5.00	\$28,250.00	(\$10,735.00)
603.0001	VIDEO INSPECTION	LF	7,150.00	\$3.10	\$22,165.00	\$1.50	\$10,725.00	\$11,440.00
603.00212	12" R.C. PIPE, 2000D	LF	95.00	\$92.50	\$8,787.50	\$68.00	\$6,460.00	\$2,327.50
603.00215	15" R.C. PIPE, 2000D	LF	875.00	\$95.00	\$83,125.00	\$75.00	\$65,625.00	\$17,500.00
603.00218	18" R.C. PIPE, 2000D	LF	270.00	\$108.00	\$29,160.00	\$90.00	\$24,300.00	\$4,860.00
603.00224	24" R.C. PIPE, 2000D	LF	320.00	\$118.00	\$37,760.00	\$110.00	\$35,200.00	\$2,560.00
603.00236	36" R.C. PIPE, 2000D	LF	85.00	\$154.00	\$13,090.00	\$150.00	\$12,750.00	\$340.00
603.30112	12" R.C. END SECTIONS	EA	6.00	\$1,030.00	\$6,180.00	\$725.00	\$4,350.00	\$1,830.00
603.30115	15" R.C. END SECTIONS	EA	2.00	\$1,135.00	\$2,270.00	\$800.00	\$1,600.00	\$670.00
603.30118	18" R.C. END SECTIONS	EA	3.00	\$1,235.00	\$3,705.00	\$850.00	\$2,550.00	\$1,155.00
603.30136	36" R.C. END SECTIONS	EA	2.00	\$2,370.00	\$4,740.00	\$1,400.00	\$2,800.00	\$1,940.00
603.34112	12" STEEL END SECTIONS	EA	2.00	\$412.00	\$824.00	\$375.00	\$750.00	\$74.00
603.34115	15" STEEL END SECTIONS	EA	10.00	\$515.00	\$5,150.00	\$400.00	\$4,000.00	\$1,150.00
603.34118	18" STEEL END SECTIONS	EA	1.00	\$669.00	\$669.00	\$450.00	\$450.00	\$219.00
603.80212	12" PLASTIC PIPE (SMOOTH INTERIOR)	LF	50.00	\$62.00	\$3,100.00	\$65.00	\$3,250.00	(\$150.00)



13761D

				A-Bide	der	PS&	ξE	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
603.80215	15" PLASTIC PIPE (SMOOTH INTERIOR)	LF	3,000.00	\$67.00	\$201,000.00	\$70.00	\$210,000.00	(\$9,000.00)
603.80218	18" PLASTIC PIPE (SMOOTH INTERIOR)	LF	740.00	\$92.50	\$68,450.00	\$75.00	\$55,500.00	\$12,950.00
603.80224	24" PLASTIC PIPE (SMOOTH INTERIOR)	LF	1,300.00	\$103.00	\$133,900.00	\$85.00	\$110,500.00	\$23,400.00
603.80230	30" PLASTIC PIPE (SMOOTH INTERIOR)	LF	440.00	\$113.00	\$49,720.00	\$95.00	\$41,800.00	\$7,920.00
603.99012	12" TEMPORARY DRAINAGE PIPE	LF	36.00	\$92.50	\$3,330.00	\$50.00	\$1,800.00	\$1,530.00
603.99015	15" TEMPORARY DRAINAGE PIPE	LF	405.00	\$103.00	\$41,715.00	\$50.00	\$20,250.00	\$21,465.00
604.0007	POLYETHYLENE LINER	EA	98.00	\$309.00	\$30,282.00	\$150.00	\$14,700.00	\$15,582.00
604.114	CATCH BASINS TYPE A, 4-FOOT DIAMETER	U	51.00	\$3,090.00	\$157,590.00	\$3,500.00	\$178,500.00	(\$20,910.00)
604.115	CATCH BASINS TYPE A, 5-FOOT DIAMETER	U	9.00	\$3,400.00	\$30,600.00	\$4,500.00	\$40,500.00	(\$9,900.00)
604.116	CATCH BASINS TYPE A, 6-FOOT DIAMETER	U	2.00	\$5,150.00	\$10,300.00	\$5,500.00	\$11,000.00	(\$700.00)
604.118	CATCH BASINS TYPE A, 8-FOOT DIAMETER	U	3.00	\$10,300.00	\$30,900.00	\$7,000.00	\$21,000.00	\$9,900.00
604.154	CATCH BASINS TYPE E, 4-FOOT DIAMETER	U	12.00	\$3,090.00	\$37,080.00	\$3,100.00	\$37,200.00	(\$120.00)
604.1549	TEMPORARY CATCH BASINS TYPE E, 4-FOOT DIAMETER	U	4.00	\$3,090.00	\$12,360.00	\$2,800.00	\$11,200.00	\$1,160.00
604.324	DRAINAGE MANHOLES, 4-FOOT DIAMETER	U	11.00	\$3,090.00	\$33,990.00	\$3,100.00	\$34,100.00	(\$110.00)
604.325	DRAINAGE MANHOLES, 5-FOOT DIAMETER	U	3.00	\$3,705.00	\$11,115.00	\$3,700.00	\$11,100.00	\$15.00
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	75.00	\$515.00	\$38,625.00	\$475.00	\$35,625.00	\$3,000.00
604.5	RECONSTRUCTING/ADJUSTING MANHOLES	LF	26.00	\$515.00	\$13,390.00	\$600.00	\$15,600.00	(\$2,210.00)



13761D

				A-Bide	der	PS8	ЗЕ	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
604.9101	OUTLET CONTROL STRUCTURE	U	1.00	\$8,240.00	\$8,240.00	\$4,600.00	\$4,600.00	\$3,640.00
604.9102	OUTLET CONTROL STRUCTURE	U	1.00	\$8,240.00	\$8,240.00	\$4,600.00	\$4,600.00	\$3,640.00
605.506	6" PERF. CORR. POLYETHYLENE PIPE UNDERDRAIN	LF	3,700.00	\$31.00	\$114,700.00	\$30.00	\$111,000.00	\$3,700.00
605.79	UNDERDRAIN FLUSHING BASINS	EA	4.00	\$721.00	\$2,884.00	\$400.00	\$1,600.00	\$1,284.00
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 3) (STEEL POST)	U	9.00	\$4,695.00	\$42,255.00	\$3,890.00	\$35,010.00	\$7,245.00
606.127	BEAM GUARDRAIL (TERMINAL UNIT TYPE G-2) (STEEL POST)	U	8.00	\$1,405.00	\$11,240.00	\$1,000.00	\$8,000.00	\$3,240.00
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	3,250.00	\$39.00	\$126,750.00	\$32.00	\$104,000.00	\$22,750.00
606.412	CONCRETE BARRIER, DOUBLE- FACED, PRECAST	LF	220.00	\$206.00	\$45,320.00	\$100.00	\$22,000.00	\$23,320.00
606.41251	54" TO 45" TRANSITION SINGLE SLOPE CONCRETE BARRIER, PRECAST	U	6.00	\$6,180.00	\$37,080.00	\$3,000.00	\$18,000.00	\$19,080.00
606.4135	54" SINGLE SLOPE CONCRETE BARRIER, PRECAST	LF	580.00	\$185.00	\$107,300.00	\$145.00	\$84,100.00	\$23,200.00
606.4139	SINGLE SLOPE CONCRETE MEDIAN BARRIER (MODIFIED), PRECAST	LF	1,180.00	\$165.00	\$194,700.00	\$160.00	\$188,800.00	\$5,900.00
606.416	REMOVE AND RESET CONCRETE BARRIER	LF	6,929.00	\$31.00	\$214,799.00	\$60.00	\$415,740.00	(\$200,941.00)
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	20,700.00	\$41.00	\$848,700.00	\$29.00	\$600,300.00	\$248,400.00
606.42291	TRANSITION BARRIER, CAST IN PLACE	U	1.00	\$5,150.00	\$5,150.00	\$5,000.00	\$5,000.00	\$150.00
606.9513	TEMP. IMPACT ATTENUATION DEVICE (REDIRECTIVE), TEST LEVEL 3	U	10.00	\$15,700.00	\$157,000.00	\$4,500.00	\$45,000.00	\$112,000.00
607.140	WOVEN WIRE FENCE, 4'-0" HIGH	LF	7,550.00	\$8.10	\$61,155.00	\$9.00	\$67,950.00	(\$6,795.00)



13761D

				A-Bidder		PS8	ξЕ	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
607.250	CHAIN LINK FENCE WITH ALUMINUM COATED STEEL FABRIC, 5' HIGH	LF	210.00	\$24.00	\$5,040.00	\$30.00	\$6,300.00	(\$1,260.00)
607.2606	CHAIN LINK FENCE WITH ALUMINUM COATED STEEL FABRIC, 6' HIGH (SECURITY)	LF	200.00	\$65.00	\$13,000.00	\$50.00	\$10,000.00	\$3,000.00
607.350	CHAIN LINK FENCE WITH VINYL COATED STEEL FABRIC, 5' HIGH	LF	575.00	\$26.00	\$14,950.00	\$30.00	\$17,250.00	(\$2,300.00)
607.4140	POST ASSEMBLIES FOR WOVEN WIRE FENCE, 4'-0" HIGH	EA	24.00	\$243.00	\$5,832.00	\$180.00	\$4,320.00	\$1,512.00
607.4250	POST ASSEMBLIES FOR CHAIN LINK FENCE, 5 HIGH	EA	2.00	\$297.00	\$594.00	\$225.00	\$450.00	\$144.00
607.42606	POST ASSEMBLIES FOR CHAIN LINK FENCE, 6 HIGH (SECURITY)	EA	18.00	\$324.00	\$5,832.00	\$225.00	\$4,050.00	\$1,782.00
607.4350	POST ASSEMBLIES FOR CHAIN LINK FENCE WITH VINYL CTD STL FABRIC, 5' HIGH	EA	6.00	\$162.00	\$972.00	\$225.00	\$1,350.00	(\$378.00)
607.5110	WOOD FENCE (STOCKADE), 10'-0" HIGH	LF	1,850.00	\$216.00	\$399,600.00	\$75.00	\$138,750.00	\$260,850.00
607.5180	WOOD FENCE (STOCKADE), 8'-0" HIGH	LF	405.00	\$200.00	\$81,000.00	\$40.00	\$16,200.00	\$64,800.00
607.76612	12' OPENING DOUBLE GATE, CHAIN LINK ALUM. COATED STEEL FABRIC, 6' HIGH (SECURITY)	U	1.00	\$1,945.00	\$1,945.00	\$4,000.00	\$4,000.00	(\$2,055.00)
608.28	8" CONCRETE SIDEWALK (F)	SY	226.00	\$97.00	\$21,922.00	\$70.00	\$15,820.00	\$6,102.00
609.214	STRAIGHT GRANITE SLOPE CURB, 4" HIGH	LF	950.00	\$38.00	\$36,100.00	\$23.00	\$21,850.00	\$14,250.00
609.224	STRAIGHT GRANITE SLOPE CURB WITH RADIAL JOINTS, 4" HIGH	LF	10.00	\$45.50	\$455.00	\$23.00	\$230.00	\$225.00
609.5	RESET GRANITE CURB	LF	3,800.00	\$19.50	\$74,100.00	\$18.00	\$68,400.00	\$5,700.00
609.811	BITUMINOUS CURB, TYPE B (4" REVEAL)	LF	2,400.00	\$7.00	\$16,800.00	\$8.00	\$19,200.00	(\$2,400.00)



13761D

				A-Bide	A-Bidder		ξЕ	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
614.331	3" STEEL CONDUIT	LF	270.00	\$66.50	\$17,955.00	\$34.00	\$9,180.00	\$8,775.00
614.523	MOLDED PULL BOX 17"X30"	EA	10.00	\$810.00	\$8,100.00	\$625.00	\$6,250.00	\$1,850.00
614.73114	3" PVC CONDUIT, SCHEDULE 40	LF	2,000.00	\$30.00	\$60,000.00	\$25.00	\$50,000.00	\$10,000.00
614.73118	3" PVC CONDUIT, SCHEDULE 80	LF	100.00	\$35.50	\$3,550.00	\$28.00	\$2,800.00	\$750.00
615.01201	TRAFFIC SIGN TYPE A, BREAKAWAY MOUNTS	SF	175.00	\$234.00	\$40,950.00	\$105.00	\$18,375.00	\$22,575.00
615.013	REMOVING TRAFFIC SIGN TYPE A	U	1.00	\$1,350.00	\$1,350.00	\$1,300.00	\$1,300.00	\$50.00
615.014	RELOCATING TRAFFIC SIGN TYPE A	U	5.00	\$6,805.00	\$34,025.00	\$3,800.00	\$19,000.00	\$15,025.00
615.0201	TRAFFIC SIGN TYPE B	SF	117.00	\$202.00	\$23,634.00	\$75.00	\$8,775.00	\$14,859.00
615.02201	TRAFFIC SIGN TYPE B, BREAKAWAY MOUNTS	SF	141.00	\$187.00	\$26,367.00	\$150.00	\$21,150.00	\$5,217.00
615.023	REMOVING TRAFFIC SIGN TYPE B	U	20.00	\$65.00	\$1,300.00	\$115.00	\$2,300.00	(\$1,000.00)
615.0301	TRAFFIC SIGN TYPE C	SF	25.00	\$335.00	\$8,375.00	\$45.00	\$1,125.00	\$7,250.00
615.03201	TRAFFIC SIGN TYPE C, BREAKAWAY MOUNTS	SF	213.00	\$247.00	\$52,611.00	\$135.00	\$28,755.00	\$23,856.00
615.033	REMOVING TRAFFIC SIGN, TYPE C	U	20.00	\$65.00	\$1,300.00	\$30.00	\$600.00	\$700.00
615.034	RELOCATING TRAFFIC SIGN, TYPE C	U	4.00	\$378.00	\$1,512.00	\$100.00	\$400.00	\$1,112.00
615.0401	TRAFFIC SIGN TYPE AA	SF	804.00	\$30.00	\$24,120.00	\$31.00	\$24,924.00	(\$804.00)
615.043	REMOVING TRAFFIC SIGN TYPE AA	U	5.00	\$810.00	\$4,050.00	\$450.00	\$2,250.00	\$1,800.00
615.0601	TRAFFIC SIGN TYPE CC	SF	7.00	\$15.00	\$105.00	\$18.00	\$126.00	(\$21.00)



13761D

				A-Bidder		PS&	ξE	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
615.063	REMOVING TRAFFIC SIGN TYPE CC	U	2.00	\$16.00	\$32.00	\$38.00	\$76.00	(\$44.00)
615.10001	FULL TRAFFIC SIGN STRUCTURE	U	1.00	\$189,000.00	\$189,000.00	\$150,450.00	\$150,450.00	\$38,550.00
615.103	REMOVING FULL TRAFFIC SIGN STRUCTURE	U	1.00	\$8,100.00	\$8,100.00	\$4,500.00	\$4,500.00	\$3,600.00
615.30801	RESET BRIDGE MOUNTED TRAFFIC SIGN STRUCTURE	U	1.00	\$31,900.00	\$31,900.00	\$4,500.00	\$4,500.00	\$27,400.00
615.343	REMOVE TRAFFIC SIGN TYPE AA (BRIDGE MOUNTED)	U	1.00	\$810.00	\$810.00	\$2,500.00	\$2,500.00	(\$1,690.00)
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	575,000.00	\$1.00	\$575,000.00	\$1.00	\$575,000.00	\$0.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$1,340,000.00	\$1,340,000.00	\$250,000.00	\$250,000.00	\$1,090,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	6.00	\$18,100.00	\$108,600.00	\$5,000.00	\$30,000.00	\$78,600.00
619.279	AUTOMATED TRAILER-MOUNTED SPEED LIMIT SIGN	U	4.00	\$27,200.00	\$108,800.00	\$2,300.00	\$9,200.00	\$99,600.00
619.503	WORK ZONE ITS OPERATIONAL COSTS (SUMMER)	MON	23.00	\$972.00	\$22,356.00	\$1,100.00	\$25,300.00	(\$2,944.00)
619.51	PORTABLE QUEUE TRAILER / SENSOR (PQT)	MON	115.00	\$540.00	\$62,100.00	\$645.00	\$74,175.00	(\$12,075.00)
619.52	PORTABLE CHANGEABLE MESSAGE SIGN (PCMS)	MON	161.00	\$783.00	\$126,063.00	\$865.00	\$139,265.00	(\$13,202.00)
619.54	MOBILE VIDEO TRAILER WITH PAN TILT ZOOM (PTZ)	MON	69.00	\$1,080.00	\$74,520.00	\$1,200.00	\$82,800.00	(\$8,280.00)
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	2.00	\$62,200.00	\$124,400.00	\$9,000.00	\$18,000.00	\$106,400.00
619.91	RELOCATE WORK ZONE ITS DEVICE	U	4.00	\$324.00	\$1,296.00	\$400.00	\$1,600.00	(\$304.00)
621.1	RETROREFLECTIVE MEDIAN BARRIER DELINEATOR	EA	194.00	\$26.00	\$5,044.00	\$25.00	\$4,850.00	\$194.00
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	39.00	\$8.65	\$337.35	\$5.50	\$214.50	\$122.85



13761D

				A-Bide	der	PS8	ξE	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
621.3112	SINGLE LARGE DELINEATOR WITH POST	EA	197.00	\$81.00	\$15,957.00	\$60.00	\$11,820.00	\$4,137.00
622.1	STEEL WITNESS MARKERS	EA	45.00	\$38.00	\$1,710.00	\$40.00	\$1,800.00	(\$90.00)
622.2	CONCRETE BOUNDS	EA	6.00	\$378.00	\$2,268.00	\$300.00	\$1,800.00	\$468.00
625.2	CONCRETE LIGHT POLE BASES, TYPE B	EA	4.00	\$1,235.00	\$4,940.00	\$1,300.00	\$5,200.00	(\$260.00)
625.62	RESET/RELOCATE LIGHT POLE	EA	4.00	\$1,440.00	\$5,760.00	\$2,500.00	\$10,000.00	(\$4,240.00)
628.2	SAWED BITUMINOUS PAVEMENT	LF	600.00	\$5.40	\$3,240.00	\$3.00	\$1,800.00	\$1,440.00
632.0106	RETROREFLECTIVE PAINT PAVE. MARKING, 6" LINE	LF	213,950.00	\$0.20	\$42,790.00	\$0.20	\$42,790.00	\$0.00
632.0112	RETROREFLECTIVE PAINT PAVE. MARKING, 12" LINE	LF	9,400.00	\$0.40	\$3,760.00	\$0.35	\$3,290.00	\$470.00
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	32,700.00	\$1.60	\$52,320.00	\$1.38	\$45,126.00	\$7,194.00
632.3106	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 6" LINE	LF	9,450.00	\$1.60	\$15,120.00	\$1.60	\$15,120.00	\$0.00
632.3112	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 12" LINE	LF	7,600.00	\$4.05	\$30,780.00	\$4.00	\$30,400.00	\$380.00
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	76,400.00	\$0.30	\$22,920.00	\$0.80	\$61,120.00	(\$38,200.00)
645.119	MULCH WITH TACKIFIERS	А	10.00	\$1,350.00	\$13,500.00	\$1,150.00	\$11,500.00	\$2,000.00
645.3	EROSION STONE	TON	1,800.00	\$36.00	\$64,800.00	\$35.00	\$63,000.00	\$1,800.00
645.44	TEMPORARY SLOPE MATTING TYPE D (WILDLIFE FRIENDLY)	SY	4,350.00	\$2.10	\$9,135.00	\$3.00	\$13,050.00	(\$3,915.00)
645.45	PERMANENT CHANNEL MATTING TYPE A	SY	12,050.00	\$9.20	\$110,860.00	\$8.00	\$96,400.00	\$14,460.00



13761D

	_			A-Bidder		PS&E		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
645.482	STUMP GRINDINGS FOR TEMPORARY EROSION CONTROL	CY	3,800.00	\$20.50	\$77,900.00	\$15.00	\$57,000.00	\$20,900.00
645.51	HAY BALES FOR TEMPORARY EROSION CONTROL	EA	85.00	\$10.50	\$892.50	\$10.00	\$850.00	\$42.50
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	2,100.00	\$9.25	\$19,425.00	\$6.00	\$12,600.00	\$6,825.00
645.531	SILT FENCE	LF	13,900.00	\$4.10	\$56,990.00	\$3.00	\$41,700.00	\$15,290.00
645.611	BONDED FIBER MATRIX (BFM)	LB	44,800.00	\$1.80	\$80,640.00	\$1.40	\$62,720.00	\$17,920.00
645.7	STORM WATER POLLUTION PREVENTION PLAN	U	1.00	\$21,600.00	\$21,600.00	\$7,500.00	\$7,500.00	\$14,100.00
645.71	MONITORING SWPPP AND EROSION AND SEDIMENT CONTROLS	HR	2,250.00	\$92.00	\$207,000.00	\$77.50	\$174,375.00	\$32,625.00
645.72	FINAL WETLAND IMPACT REPORT	U	1.00	\$5,400.00	\$5,400.00	\$4,000.00	\$4,000.00	\$1,400.00
646.2	TURF ESTABLISHMENT WITHOUT MULCH	А	20.00	\$2,810.00	\$56,200.00	\$1,400.00	\$28,000.00	\$28,200.00
647.1	HUMUS	CY	10,600.00	\$27.00	\$286,200.00	\$21.00	\$222,600.00	\$63,600.00
650.83	WEED CONTROL MATTING	SF	600.00	\$2.05	\$1,230.00	\$3.00	\$1,800.00	(\$570.00)
670.02	SEDIMENT SUMP MEASURING BLOCK	EA	2.00	\$1,235.00	\$2,470.00	\$620.00	\$1,240.00	\$1,230.00
670.04501	CONSTRUCT AND REMOVE DIVERSION	U	1.00	\$16,200.00	\$16,200.00	\$24,500.00	\$24,500.00	(\$8,300.00)
670.04502	CONSTRUCT AND REMOVE DIVERSION	U	1.00	\$44,600.00	\$44,600.00	\$65,000.00	\$65,000.00	(\$20,400.00)
670.04503	CONSTRUCT AND REMOVE DIVERSION	U	1.00	\$18,400.00	\$18,400.00	\$30,000.00	\$30,000.00	(\$11,600.00)
670.04504	CONSTRUCT AND REMOVE DIVERSION	U	1.00	\$24,600.00	\$24,600.00	\$40,000.00	\$40,000.00	(\$15,400.00)



13761D

				A-Bide	der	PS8	λE	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
670.04505	CONSTRUCT AND REMOVE DIVERSION	U	1.00	\$18,000.00	\$18,000.00	\$30,000.00	\$30,000.00	(\$12,000.00)
670.104	TEMPORARY PORTABLE LIGHTING	U	7.00	\$18,500.00	\$129,500.00	\$10,000.00	\$70,000.00	\$59,500.00
670.1619	DISCHARGE PERMIT FOR CONTAMINATED WATER	U	1.00	\$15,000.00	\$15,000.00	\$5,000.00	\$5,000.00	\$10,000.00
670.822	GNSS CONSTRUCTION INSPECTION EQUIPMENT	U	1.00	\$41,200.00	\$41,200.00	\$75,000.00	\$75,000.00	(\$33,800.00)
670.95	TEMPORARY SAFETY FENCE	LF	410.00	\$4.10	\$1,681.00	\$4.50	\$1,845.00	(\$164.00)
677.1201	PERMANENT FIXED LOCATION DYNAMIC MESSAGE SIGN (DMS)	U	1.00	\$91,000.00	\$91,000.00	\$75,000.00	\$75,000.00	\$16,000.00
677.32001	ANTENNA MOUNTING STRUCTURE FOUNDATION	U	1.00	\$27,000.00	\$27,000.00	\$55,000.00	\$55,000.00	(\$28,000.00)
677.32101	ANTENNA MOUNTING STRUCTURE TOWER	U	1.00	\$197,000.00	\$197,000.00	\$24,000.00	\$24,000.00	\$173,000.00
677.41501	CCTV SYSTEM WITHOUT POLE	U	1.00	\$8,855.00	\$8,855.00	\$20,000.00	\$20,000.00	(\$11,145.00)
677.4601	MOTOR VEHICLE DETECTION SYSTEM (MVDS)	U	1.00	\$55,700.00	\$55,700.00	\$25,000.00	\$25,000.00	\$30,700.00
677.54201	POLE MOUNTED ITS EQUIPMENT CABINET	U	1.00	\$12,400.00	\$12,400.00	\$17,000.00	\$17,000.00	(\$4,600.00)
677.543	DOUBLE-WIDE GROUND MOUNTED ITS EQUIPMENT CABINET	U	1.00	\$18,400.00	\$18,400.00	\$20,000.00	\$20,000.00	(\$1,600.00)
677.5822	1 GBPS FIBER ETHERNET SWITCH	EA	2.00	\$5,670.00	\$11,340.00	\$7,000.00	\$14,000.00	(\$2,660.00)
677.6213	GENERATOR BACKUP SYSTEM, PROPANE SMALL	U	1.00	\$28,900.00	\$28,900.00	\$5,000.00	\$5,000.00	\$23,900.00
677.6301	METER AND DISCONNECT PEDESTAL	U	1.00	\$5,940.00	\$5,940.00	\$4,000.00	\$4,000.00	\$1,940.00
677.6302	METER AND DISCONNECT PEDESTAL	U	1.00	\$4,050.00	\$4,050.00	\$4,000.00	\$4,000.00	\$50.00



13761D

				A-Bidder		PS&E		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
677.6303	METER AND DISCONNECT PEDESTAL	U	1.00	\$4,590.00	\$4,590.00	\$4,000.00	\$4,000.00	\$590.00
677.64	UNINTERRUPTIBLE POWER SUPPLY (UPS)	EA	2.00	\$7,775.00	\$15,550.00	\$6,000.00	\$12,000.00	\$3,550.00
677.9108	1-CONDUCTOR #8 AWG WIRE	LF	325.00	\$4.60	\$1,495.00	\$2.00	\$650.00	\$845.00
677.9302	3-CONDUCTOR #2 AWG CABLE	LF	450.00	\$15.00	\$6,750.00	\$12.00	\$5,400.00	\$1,350.00
692.	MOBILIZATION	U	1.00	\$2,060,000.00	\$2,060,000.00	\$1,300,000.00	\$1,300,000.00	\$760,000.00
697.11	INVASIVE SPECIES CONTROL AND MANAGEMENT PLAN	U	1.00	\$3,240.00	\$3,240.00	\$5,000.00	\$5,000.00	(\$1,760.00)
697.31	PROJECT OPERATIONS PLAN	U	1.00	\$7,560.00	\$7,560.00	\$25,000.00	\$25,000.00	(\$17,440.00)
697.41	CRITICAL PATH METHOD (CPM) ELECTRONIC SCHEDULE	U	1.00	\$12,400.00	\$12,400.00	\$12,500.00	\$12,500.00	(\$100.00)
698.11	FIELD OFFICE TYPE A	MON	28.00	\$6,180.00	\$173,040.00	\$2,700.00	\$75,600.00	\$97,440.00
698.2	PHYSICAL TESTING LABORATORY	MON	26.00	\$1,340.00	\$34,840.00	\$900.00	\$23,400.00	\$11,440.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	95,000.00	\$1.00	\$95,000.00	\$1.00	\$95,000.00	\$0.00
1008.8	ALTERATIONS AND ADDITIONS AS NEEDED - WINTER MAINTENANCE	\$	25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$0.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$0.00
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$	133,300.00	\$1.00	\$133,300.00	\$1.00	\$133,300.00	\$0.00

Total:	\$20,518,857.90	\$17,779,628.05	\$2,739,229.85